
https://www.pass4itsure.com/1z0-807.html
2024 Latest pass4itsure 1Z0-807 PDF and VCE dumps Download

 

 

 

1Z0-807Q&As

Java EE 6 Enterprise Architect Certified Master

Pass Oracle 1Z0-807 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-807.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-807 VCE Dumps | 1Z0-807 Study Guide | 1Z0-807 Exam Questions                                1 / 7

https://www.pass4itsure.com/1z0-807.html
https://www.pass4itsure.com/1z0-807.html
https://www.pass4itsure.com/1z0-807.html


https://www.pass4itsure.com/1z0-807.html
2024 Latest pass4itsure 1Z0-807 PDF and VCE dumps Download

QUESTION 1

You are conducting a security audit for a web application that uses URL rewriting. The application does not allow for
user-generated content and is accessible only via secured VPN. 

Which two security threats would you prioritize in your audit? 

A. SQL injection 

B. Cross-site scripting 

C. Parameter-site manipulating 

D. Session hijacking 

E. Denial-of-service attacks 

Correct Answer: CD 

 

QUESTION 2

Which two statements are true about RESTful web services? 

A. They can be both stateful and stateless. 

B. They support the use of AJAX in web applications. 

C. They are often similar than their Simple Object Access protocol (SOAP) equivalents. 

D. They are independent of the transport protocol. 

E. They support Remote Procedure Call (RPC) and message-Oriented Middleware (MOM) integration styles. 

Correct Answer: BC 

 

QUESTION 3

A successful web application is used by over two hundred thousand users. Due to this substantial load, the database is
over bridged and fails frequently. All data, included critical user records and temporary session data, is stored in the
database. Because of resource constraints, a new database system cannot be installed. 

Which change will reduce the load on the database? 

A. Creating more entity beans to optimize interaction wild the database 

B. Refactoring the web application to use DAOs to communicate with the database 

C. Refactoring the web application to store temporary session data on the web servers 

D. Adding more web servers to the web tier to distribute the load and reduce the number of transactions on the
database. 
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Correct Answer: C 

100% Real QandAs | 100% Real Pass 

 

QUESTION 4

You are designing a new subsystem to store and scratch for user commands in a fashion company\\'s website. On
class, CommentManager, is responsible for accessing comment data and providing read-only access to other objects in
the subsystem. 

Which two implementation details are necessary for the Cementmanager class? 

A. The storage mechanism implemented in CommentManager must be private to CommentManager. 

B. All the accessor and mutator methods in CommentManager must have the static modifier in their declarations. 

C. The comments must be assessable directly only within CommentManager. 

D. CommentManager should be a singleton object. 

Correct Answer: AC 

 

QUESTION 5

You are the architect of a web application that uses javaServer Faces (JSF) as a presentation tier for business
processes coded as stateless session beans. When you add new code to the stateless session 

100% Real QandAs | 100% Real Pass 

beans to address new accounting requirements, without changing the interface, you discover that the new business
processes are being ignored by some of the JSF components. 

What might be the cause of this problem? 

A. The presentation tier is relying on validation logic in the business tier. 

B. The browser is caching out-of-date versions of the JSF components. 

C. The business processes are not rigorously encapsulated in the session beans. 

D. The new session beans have been deployed incorrectly, and proper deployment will resolve the problem. 

Correct Answer: C 

 

QUESTION 6

Your application produces messages by client applications. The number of clients interested in the messages varies
continuously at run time. Any client can process any message, but a message must be processed exactly once. 

How should the messages be delivered to the clients? 
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A. Using a Java Message Service (JMS) topic 

B. Using a Java Message Service (JMS) queue 

C. Using XML over HTTP 

D. Using a Simple Object Access Protocol (SOAP) web service 

Correct Answer: B 

 

QUESTION 7

You need to restrict access to the administration screens in your website. Which two techniques test a user\\'s
permissions before granting access to a particular screen? 

A. Enterprise JavaBeans (EJB) entity 

B. Servlet filter 

C. Custom tag library 

D. Deployment descriptor 

E. Custom JavaScript in JSP 

Correct Answer: BD 

 

QUESTION 8

Which two statements are true about the timer service of a business component container? 

A. Timed notifications for all types of session beans can be scheduled by using this service. 

B. When the server is shut down, the timer is persisted automatically and becomes active again when the server is
restarted. 

C. Each instance of message driven beans has unique timers. 

D. When stateful session bean instance is removed, the container detaches the timers associated with the instance and
allocates them to the new instance. 

E. When a transaction is rolled hark, the timer creation within the transaction is also rolled back. 

Correct Answer: BE 

 

QUESTION 9

An investment company has purchased a number of small online business referral systems that appeal to various niche
demographics. The company wants to bring these networks together in hopes of finding a broad, single theme and
brand image for these groups before they can do that, they need to get the users communicating with outside their
current networks. 

1Z0-807 VCE Dumps | 1Z0-807 Study Guide | 1Z0-807 Exam Questions                                4 / 7

https://www.pass4itsure.com/1z0-807.html
https://www.pass4itsure.com/1z0-807.html
https://www.pass4itsure.com/1z0-807.html


https://www.pass4itsure.com/1z0-807.html
2024 Latest pass4itsure 1Z0-807 PDF and VCE dumps Download

Which Web Services pattern would you recommend they consider in building a scheme to accommodate this
communication? 

A. Asynchronous Interactions 

B. PAOS Interactions 

C. Web Services Broker 

D. JMS Bridge 

Correct Answer: A 

 

QUESTION 10

You are the architect of an existing project. Making changes to one component frequently requires making changes to
many other components. Which action would reduce future maintenance costs? 

A. Redesign the configuration and deployment. 

B. Add an abstraction layer between the servlets and the EJB components. 

C. Convert all stateful EJB components to stateless EJB components. 

D. Expose the existing EJB components as web services. 

Correct Answer: B 

 

QUESTION 11

While analyzing an existing web application, you observe the following issues in the source code: Duplicate control code
is scattered throughout various view. 

Business and presentation logic are mixed within these view. 

The next phase of the project involves refactoring the existing code to address these two issues. 

Which design pattern, if employed in the refactoring exercise, would most directly address the two issues? 

A. Service to Worker 

B. Dispatcher view 

C. DAO 

D. Composite View 

Correct Answer: A 

 

QUESTION 12
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You are the architect at ACME, a large a large global retailer of festival and holiday accessories. ACME wants to launch
a new shopping portal for the holiday shopping session, allowing two months from project inception to going live. The
portal must contain in-house and third-party stock to attack customers. 

Fast response times are also critical so users remain engaged and sticky to the portal. 

What would you recommend to the ACME project team to deliver this project? 

A. Access all third party content using JSONP to dynamically load it from the browser. 

B. Access as much content with bulk-loading as possible; use JSONP to access the remainder. 

C. Access all content regardless of source using the HTML 5 XML parsing capabilities of the browser 

D. Access all third party content using JSON to dynamically load it from the browser. 

Correct Answer: A 

 

QUESTION 13

You are contracted to improve the performance of an application. 

While analyzing the application, you observe the following issues: Tight coupling between client and business objects 

Too many remote method Invocations between client and server 

Which design pattern is best suited to improving performance? 

A. Web Service Broker 

B. Value List Handler 

C. Data Access Object 

D. Service Activator 

Correct Answer: B 

 

QUESTION 14

You are asked to propose a software deployment strategy that will reduce a client will also make deploying and testing
their software stack more efficient. 

Which element would you include in your proposal? 

A. Vertically scalable platform 

B. Horizontally scalable platform 

C. Virtualized platform 

D. Standard unit testing software 
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Correct Answer: C 

 

QUESTION 15

Your consulting company has been asked to enhance an existing application. The current application is a 

100% Real QandAs | 100% Real Pass 

two-tier system in which all the business logic is located in thick clients. You are considering a solution that would
involve moving the business logic into the server\\'s database In the form of stored procedures. 

Which statement is an expected outcome of your proposed solution? 

A. It will improve the scalability of the system. 

B. It will improve the manageability of the system. 

C. It will recline the amount of traffic on the network. 

D. It will, in effect, turn the application into a three-tier system. 

Correct Answer: B 
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